7 Rational Equations part 2
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PRE-CALCULUS 11 Ch 6 — Day 7: RATIONAL EQUATIONS (Part 2)

SOLVING PROBLEMS WITH RATIONAL EQUATIONS

Solving problems using algebra:

1) Define the variable introduced and write expressions for all important quantities.
2) Write the equation that models the situation described in the problem.

3) Solve the equation.

4) Answer the problem. Your answer must be what the problem is asking you to find.

Example 1:0ne cyclist averages 3 km/h faster than a second cyclist. The faster cyclist

rode 270 km in the same time the slower cyclist rode 225 km. What

was the average speed of each cyclist?
-Qa sfer S 'U;W
w uj

s |4 A <730 kn 225 kn

5 i{:k?n/l\r = k’"/hr‘
_e -21’0 J XS
-x+5
-l !
270 = 225 \/’\’\'\”" al!
— 270 % - 22€
43 = x—
R astichins 14 0, - o TR
= <
Leb= % (x43) _'%?gi LA
NSy = 7€
e S
AP~

Sentence +£’ SIGW (yc(,s.,. €=
(S /:( e

m Spes
k M""ﬁvc’;/mt s 1S13= [8€mihr.

5 Ch 6 Rationals Page 1



=

R .

0. vuy 7 11U

- NUUUITUIL CYUULIUIS [rulL £]

ruye cors

Example 2: The speed of the current in a river was 2 km/h. A boat made a round trip to

a town 24 km away in a total of 5 hours. What is the
e
speed of the boat in still water?
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[Answer: 10 km/h]
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